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4 Natural Deduction for Propositional Logic

For each of the following sequents, either provide a natural deduction proof, or a counter-example
that proves the sequent invalid.

For proofs, clearly indicate which rule, and what assumptions/premises/
intermediate results you are using in each step. Also clearly indicate the scope of any boxes you use.

For counterexamples, give a complete model. Show that the model satisfies the premise(s) of
the sequent in question, but does not satisfy the respective conclusion. For each of the following
sequents, either provide a natural deduction proof, or a counter-example that proves the sequent
invalid.

4.1 Rules for Natural Deduction

4.1.1 Give the definition of a sequent. Give an example of a sequent and name the parts the
sequent consists of.

4.1.2 Look at the following statements and tick them if they are true.
0 In a sequent, premises entail a conclusion.
[J In a sequent, conclusions entail a premise.

O A sequent is valid, independent on whether a proof can be found.

O A sequent is valid, if a proof for it can be found.

4.1.3 Explain the concept of boxes in deduction rules and why they are needed. What does it
mean if you make an assumption within a box? Where is this assumption valid?

4.1.4 Explain the OR-elimination (V-e) rule of the natural deduction calculus. In particular,
why does it rule require two boxes?

4.1.5 Why are there two rules for the V-introduction rule. Explain, why you are able to connect
any formula to a certain formula ¢ using the connective V.

4.1.6 ~——pAgqg,~r F rA-pA-—q

417 pp—qp—(g—r) B r

418 =p = q,~——qgAr F pA-——gq

419 p—>(¢q—r),—p,~r b —q

4110 p—>gq, g—r F p—r

4111 p—>(gAr),g—s F p—=(sAT)

4112 pAgr—s F (pV(r—=38)AqV((tVr)—u)
4113 ¢—=r F (pVvVq) = (pVr)

4114 p— —q,q = —p

4.1.15 Solve this task without using the Modus Tollens.

-p—g,q Fop

4116 + ((p—=q) —p) —p
4.1.17 =gV -p F —=(qAp)
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4.1.18 pV—-—q,pA—-q F sV -t

4119 p—q F —pVyq

4120 + =(pAq)Vp

4121 ==k = (IVm),m—=l—m + —kV({V-—-m)
4122 =(aANb)V-c F =(aAb) = cVa

4123 (sV—-wu)—t F (nsAu) Vit

4.1.24 Provide a natural deduction proof for the following sequent without using the Modus
Tollens rule:

=Y, E e

4125 =—pA—-—q,rAs F (pAr)A—-ms

4126 (-p— g AN(g—7r),—~r F —==rA-p

4127 (p—q)—>r F rA=s—=(p—q)

4128 p—=q + (r—p —= (r—9q)

4129 p—=q,pA(rVvq) F (g—=p) = (sAt)Vg) A(rVyq)
4130 pVg,—-pVr F qVr

4131 p—qgpArVvVg F (g—=p)— (sAE)Vg A(rVag)
4132 pVg,p—>r,ms——-q F rVvs

4.1.33 Translate the following reasoning into a sequent. If the sequent is valid, proof it using
the rules of natural deduction. If the sequent is not valid, provide a counter example.

If T press the button, the window opens.
The window is not open.
Therefore, I didn’t press the button.

4134 ~qVp F g—(pVr)

4135 p—(gVr),~gA—-r F —p

4.1.36 ~(gVp) F —gAp

4137 F (p—=qV(g—r)

4138 (p—=>q)A(g—=p) F (pAg)V(=pA—q)

4.1.39 Translate the following reasoning into a sequent. If the sequent is valid, proof it using
the rules of natural deduction. If the sequent is not valid, provide a counter example.

If T press the button, the window opens.
I pressed the button.
Therefore, the window is open.

4140 (p—=>(g—=r)A(g—=(r—s) F p—(¢g—s)
4141 F (p—=(@Ar)=((p—=q9Ap—=r1))
4142 (p—=(g—=r)V(g—=(r—=3s) F p—(¢g—s)
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4143 F (pAq) = =(—pV —q)

4144 =(pAq)V-(rAs) F (=pA-r)V (=g A-s)
4145 p—qgA-r,r—=sV-qg F p— s

4146 p—qVr,mg b p—r

4.1.47 =(pANq) = r,p——q F T

4148 (pAQ)V(pAT) F pA(gVT)

4149 pAq—r,p—-q F -

4150 F (p—q)V g

4151 F (p—q)A—q

4152 (p—=q)AN(g—=r),~-rVg F —pVr

4153 (pAq) = (pAr),q = —pVr

4154 p—=q,q—r,~(pAT) F g—p

4155 (pAg) = (rvs),(rApAg) F (g=7)A(s—q)
4156 (pAr) F (g—=p)A(s—=T1)

4157 p—=>(gVr),g—s F =(p—(¢gNs))

4158 =(pV—-q) F p

4159 p— gt ((pva) = p)A(p— (pVq))

4160 pVg,—qVr F r

4161 (pAq) = (-rA=s),-rA=s F op

41.62 (a) If I am ill, I go to the doctor.
I am ill.
Therefore, I go to the doctor.

(b) If T am ill, I go to the doctor.
I go to the doctor.
Therefore, I am ill.

(c) (Solve without using the Modus Tollens)
If I am ill, T go to the doctor.
I did not go to the doctor.
Therefore, I am not ill.

4163 (a) (pAQA-T F gVr

(b) (pVO AT F gAT

4164 pANg,q— ——r F pAr

4.1.65 (pAq) F ((=(pAg) —=7)V((g—s)At)
4.1.66 —t,(pAT) =t F (r—s)A(p—q)
4167 p—>q,q—1 F T

4.1.68 Translate the following reasoning into a sequent. If the sequent is valid, proof it using
the rules of natural deduction. If the sequent is not valid, provide a counter example.
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If T press the button, the window opens.
The window is open.
Therefore, I pressed the button.

4.2 Soundness and Completeness of Natural Deduction

4.2.1 ”Natural deduction for propositional logic is sound and complete” Explain in your own
words what this means.

4.2.2 How can you show that a sequent is not valid? Is this a consequence of soundness or
completeness. Explain your answer.

4.2.3 Explain what it means that natural deduction for propositional logic is sound. What is
the difference to completeness?

4.2.4 Look at the following statements and tick them if they are true.

O Any sequent that is a correct semantic entailment can be proven.
0 Any sequent that can be proven is a correct semantic entailment.
[0 If a sequent is not provable, the semantic entailment relation does hold.

O If for a sequent the semantic entailment relation does not hold, it cannot be proven with
natural deduction.

4.2.5 Given an invalid sequent, how do you show its invalidity?
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